FILE PATH

MATCH LINE STA 350+00 EB 1-290 W 2
PCC < S i EX CURVE NOTE:
A il 7307555 3 =< CIR-ESW-00-3 SEE SHEET47 FOR STATION EQUATIONS.
PoTavEs2] & 67.55 3 o [ —
?305+0,;1 JES 3 i ~ 0 50 100 200
re s W Jopr SEL 0D 2 A 5 et
PC STA 7805453, IS Deroag—7S | | 5| /88 T3 o T 166 ws
2943390 [ TAYLOR -00 o2 /1—290 oI CPT 1 i3 B HALSTED ST . . | 3855
PR CURVE EXIT RAMP o= == EX CURVE Pl STA =18 /— | | 3850 \ )
P-HAR-CL-1 o L ul 8146+24.60 | 3845 1 L L
" A PR CURVE v % CIR-ESW-00-2J/ " 3840 ~ | \ L Lg HALSTED STREET PR CURVE P-HAR-CL-1
CTAY-ES- = 2 h
1 3830 PT 1P TA.Y ESS Lo 1p13835 1 PC STA EX CURVE KDR-ESB-00-5 EX CURVE KDR-ESB-00-6 PI STA = T806+31.79
L 1 L PCC STA Ky P2, M 51770.03 P EX CURVE KDR-ESB-00-3 EX CURVE KDR-ESB-00-4 P] STA - 19484.85 P] STA = 28407.67 A= 7°45' 00" (L)
EX CURVE T 730619928 A L] ) CPT 126 PI STA = 8+34.32 PI STA = 13+66.51 A= 30 04" 48" (RT) A 1° 23 187 (RD) D = 4° 58’ 56
PR_CURVE CIR-EES-00-1 S J . 0 > LLsTA_ | A= 8° 40" 44" R A= 4160 367 (LT D = 0°30' 00" D = 0° 15" 00" R = L150.00° =z
P-TAY-ES-5 PT STA 7807+09.45 L § £ o & 20773.26, D - 3° 10 59 D - 20 59' 59" R - ana.0r R - 22.918.30 T = 77.90" s
PR CURVE VA%, o 15+491.71  [gx [CURVE /94 (,%b:'{c R = 1,800.01" R = 1,910.09’ T - 308.08’ T = 277.67' L f ]55.51)5 g
(P-TAY-ES-4 < L Lpc sta |CIRFEWS-00-3] N % T = 105.03 T = 7132 L = 616.01' L = 555.31' E = 264 T
A ¢ o0 P 353+59.49 pec STA\ © N L = 209.82 L = 142,57 E = 414 E - 1.68 e = N/A -
; L SYA I A SC_STA e - E = 3.06’ E = 133 PC STA = 16+76.77 PC STA = 25+30.01 TR = N/A —_
<< QJ\:\ &£ 353+97.24 : o SC STA = 7+29.29 SC STA = 12+495.19 PT STA = 22+92.78 PT STA = 30485.31 SE RUN = N/A =z
S EX CURVE Q 9+39.11 CS STA = 14+37.76 — PC STA = 7805+53.90 m
< ZtEN-co- : PT STA = 7807+09.45
S < 2 CIR-EEN-00-1 S CURVE 5 %
S 1 «%«Fﬁ;} EX CURVE i 5 KPY) ” >
o oL R&" IKE-EEB-00-3 ‘g” 3 - EX CURVE — B SB 1-90/94 SB 1-90/94 (KENNEDY E @
— s s < <~ CIR-EWS-00-2 o
PCC STA S EX CURVE 0 355+4T§47 s g +
Q 9 KDR-ESB-00-4 i AT Dl vig | EX CURVE o
: - CURVE
Q | 20+80.41 2NN DR e - KDR-ESB-00-6 o
~ oY PT STA ot W2 e~ EX CURVE
) 2 |10 0 356+05.32 O 15 t3) [@ NB 1-90/94 KDR-EN z
B NW RAMP 20 . \ 25
¥ TS STA 1 1 L
) 10+95.19 SC STA ST STA L <@ <[5 NB 1-90/94 (KENNEDY EXPY) < T
5 ST ora  12+95.19 356+99.44 EX CURVE P =l o)
g = PC_STA 15 PC STA KDR-ENB-00-4 $ e S
1 10+89.10 16+62.09 e elS S <
E wn 356+51.86 Té: Ssggl . POT STA a N Eg >
] +58. 33+64.71 =
£ Ll—' w0 =
§ Z EX CURVE I PT STA EX CURVE KDR-ENB-00-4 EX CURVE KDR-ENB-00-5 EX CURVE CIR-ESW-00-1 EX CURVE CIR-ESW-00-2 EX CURVE CIR-ESW-00-3
5 = 10 [IKE-EEB-00-4 o 15+41.68) 979 PI STA = 20+43.63 PI STA = 27+72.52 PI STA - 16+45.46 PI STA = 20+08.60 PI STA = 22+38.85
g gl o e X CURVE A = 11° 24° 28" (RT) A= 4° 08 397 (LT A = 45° 09° 26" (RT) A = 16° 01’ 34" (RT) A= 26° 01 117 RT)
i & 2 | I : CIR-FEN-00-4| D = 1° 30" 00" D = 0° 40’ 00" D = 9° 19" 39" D = 5° 59" 58" D = 13° 34’ 08"
H - nig [ vlg - R = 3,819.89' R = 8,594.42' R = 614.27' R = 955.00' R = 422,28’
1 < oF [ F BT STA ¢ Ex ORVE - 381.54' T = 310.95' T = 255.43' T = 134.44' T = 9757
a4 3 o/ &S 35550186 TS /STA 359416, 74 (CIRTENN-00-2 T = 38154 = 31095 = 255.43 = 134.44° Toonen
g Py .74 L = 760.55 L = 621.63 L = 484.13 L = 267.12 = 191,
8 T EX CURVE | <«l@ PT STA E = 19.0 E = 5.62 E = 50.99' £ = 9.42 £ = 1L12
E % CIR-ENW-00-1| 7| 28+19.03 PC STA = 16+62.09 PC STA = 24+61.57 PC STA = 13+30.03 PCC STA = 18+74.16 PCC STA = 21+41.29
- B olF L EX CURVE i PT STA = 24422.65 PT STA = 30+83.20 PCC STA = 18+74.16 PCC STA = 21+41.29 PT STA = 23+33.05
5 B EN RAMP Slh CIR-EWS-00-1
7l 25 Q| W o PC STA ¢ DES PLAINES ST Pl__Stao 4143+90.91 . | 4150 |
3 EX_CURVE S o 13+63.32 /_ 140 ! . | 4145 L !
Q - - - 4 1
: CIR-EEN-00-2 SC STA 360+66.74 . | al35 L L \ 1 | L Pl STA
: Lazs L Nw . \ 14130 | ' : A DES PLAINES STREET PLSTA__
2
: EX CURVE
g - CIR-EEN-00-3 IKE-EWB-00-5 EX CURVE IKE-EEB-00-3 EX CURVE IKE-EWB-00-4 EX CURVE CIR-EEN-00-1 EX CURVE CIR-EEN-00-3 EX CURVE CIR-ENW-00-1
£ - L PI STA = 354+82.42 PI STA = 354+73.38 PI STA = 17+04.03 PI STA = 27+12.77 PI STA = 10+35.96
EX CURVE CIR-EWS-00-3 - (-2TATION EQUATION: B CS|STA 361+96.78 L A= 2027 307 LT A= 3° 48 207 RD) A = 48° 23' 08" (RT) A= 39° 107 08" (LT) A = 23° 06 09" (RT)
& POT STA Z6184.69 BK % D = 1° 00' 00" D = 2° 29 59" D = 22° 55 06" D = 17° 40 40" D = 23° 00" 00"
H PI STA = 23+40.00 POT STA 0+00.00 AH B WS RAMP o ; ) B , - g B -
4 A= 90° 447 227 (LT 5 e R = 5,729.65 R = 2,292.01 R = 250.00 R = 324.11 R = 249.11
3 D = 20° 41" 04" - (@ TALION EQUATION: _ T = 122.93 T = 76.14 T = 112.32 T = 115.31 T = 50.91'
9 R = 277.00° S PC STA 0+I1.04 BK = POT STA 10+80.89 Z L L = 245.82" L = 152.23" L = 21112 L = 22157 L = 100.45
g T - 280.60" 2 r PC STA 18+75.67 AH ~F & £ = 132 £ = 126 E = 24.07 E = 19.90" E = 5.5
g L = 438.69 < & 1634+46.75 2 PC STA = 353+59.49 SC STA = 353+97.24 PC STA = 15+9L.71 PC STA = 25+97.46 PC STA = 9+85.04
< E = 117.29 T > ,ST STA 36315010 ~ PT STA = 356+05.32 CS STA = 355+49.47 PT STA = 18+02.83 PT STA = 28+19.03 PT STA = 10+85.49
H PCC STA = 20+59.40 o =38
§|  PT STA = 24+98.09 . G | EX CURVE CIR-EWS-00-1 > EX CURVE IKE-EEB-00-4 EX CURVE IKE-EWB-00-5 EX CURVE CIR-EEN-00-2 EX CURVE CIR-EEN-00-4 EX CURVE CIR-ENW-00-2
: = PL STA = 14+59.92 PI STA = 357+76.88 PI STA = 361+3L.77 PI STA = 26+59.42 PI STA = 31437.75 Pl STA = 23+51.29
£ EX CURVE CIR-EWS-00-4 EX CURVE KDR-ENB-00-3 b 4= 427 15 04" (RT) |/ A = 2° 307 007 (RT) A= 3015 027 (LT A = 138° 29° 00" (LT) A= 29° 377 21" RT) A = 147° 310 027 (LT)
i P1sTA = 19+78.44 = PI STA = 7+04.34 z D = 22° 55" 04 5 D - 1° 00’ 00" D = 2° 29" 59" D = 20° 27" 46" D = 15° 54' 55" D = 17° 41 01"
o= 12022 327 RD wal a=7o10 077 W % R = 250.00 > Rr=s5720865 R = 2,292.01' R = 280.00° R = 360.01 R = 324.00"
g -6 02 40 « D = 2° 00" 00" 5] o A & T = 125,02 T = 65.04' T = 73872 T = 9519 T = L112.23
s| R = 947.89 n R = 2,864.80" e e E : }246?6 3 L = 250.00" L = 130.04' L = 676.76' L = 186.13" L = 834.20'
(] - . = ‘. o = o - . - . - . - . - .
L T = 102,77 - T = 179.45 o S - £ = 136 £ =092 E = 510.01 £ = 12.37 E = 834.46
: L = 204.74’ S L = 358.43 N - . = L PC STA = 356+51.86 PC STA = 360+66.74 PC STA = 194+20.70 PC STA = 30+42.56 PC STA = 12+39.06
i =555 AL E = sel AL L PT STA = 15+47.68 |l PTsTA = 35940186 G PT STA = 361+96.78 PT STA = 25+97.46 PT STA = 32+28.69 PT STA = 20+73.26
2 PC STA = 18+75.67 E|8 PC STA = 5+24.89 o s T
% PCC STA = 20+80.41 ;:( o PT STA = 8+83.32 Ll EX CURVE CIR-EWS-00-2 B EX CURVE CIR-ENW-00-3
g PL STA = 18+99.17 O, PI STA = 22+66.58
g EX CURVE CIR-EWS-00-5 L EX CURVE CIR-EWS-00-6 A= 797 410 427 LD r @© W A = 37° 04 01" RT)
jﬁ; PI STA = 21+61.79 Pl STA = 24+08.12 - ~ D =19° 53// 40" <= D = 19° 53 40"
g a=1s014 17 RD &= 4° 57 42" (RT) R = 288.00° =l <% N R = 288.00
f D - 9° 25 Q3" D - 1° 29 4o T = 240.36 wn P} T = 96.55'
§ ’ L = 400.59 -2 vl
g R = 608.40 R = 3,829.31' = - L w oD (1 L = 186.32'
T - 8L38 L T - 165.91 | | E = 87.12 = ¢ VAN BUREN ST o% E = 15.75
A L= ieLar L = 33161 PC STA = 16+58.81 Sz s ‘ |_\ | | 8170 ] BC STh o 21470.03
: E = 5.42 E - 3.59 PCC STA = 20+59.40 = 1 18 | TREET PT STA = 23+56.35
A PCC STA = 20+80.41 PCC STA = 22442.21 5 VAN BUREN S
S PCC STA = 22+42.21 PT STA = 25+73.82 POT STA POT STA =
8 sg;ﬁf&,g t 368+91.13 368+89.26 MATCH LINE STA 8163+00 =
% VAN BUREN ST =
| DIBOW26-Sht-ATB-B2.dgn DESIGNED - JLV REVISED - %1551 SECTION COUNTY grf)EEAI’% S’:JEOFT
AECOM m stems USER MM chuwe ORAWN __ - BAW REVISED - STATE OF ILLINOIS ALIGNMENT, TIES AND BENCHMARKS 90/94/290 2013-008R COO0K 559 | 45
¢ J PLOT SCALE - 102.0000 '/ in. CHECKED - JMG REVISED - DEPARTMIEENT OF TRANSPORTATION CONTRACT NO. 60W26
PLOT DATE = 9/12/2013 DATE - 9/15/13 REVISED - SCALE: 1" = 100’ ‘ SHEET 2 OF 6 SHEETS‘ STA. TO STA. [ILLINOISFED. AID PROJECT




